J"FA YN TR TE FE A
: 20114F %E89E EIFE=E4Hwvh—)—4 #kia RBEEEE R THE

ansa 280B 5 3 fA
H 2011/10/09(8) 12:00 kick off HARERE 904y =54 KERZFRRE (FEWLG)
x 2 5 EvFiREE | AIZ B 7] B A A #1200 A
HAERRES Al 8Bz E = 8RB a5 Bt
x = FiE A B )| EF BlE2 A HE HEADEL S AITIE PN
KICK OFF 1 B2 0
iﬁiﬁ%ii 6 o 1 un.ﬁﬂ-%j(%
EEEE B= 5 ®¥ BB M
TR a1—hk B 2 x 2 |6 & 2 = B va—t e
No.| % |90|75/60/45]30|15/5+ = = 5 EB|IB|5 = = 5t/15/30[45/60/75/90] % | No.
ZH thth 41 GK [|GK | 20 FAH IRE
N He X 40 DF ||DF 28 KM SR
N PN 24 |DF ||DF | 77 B XE
N EkR %15 [113 DF [|DF 88 INK K= 80
o 2125 BR K# 5 DF|[|DF 69 Hlll mE 72
111 3 HHE ERH# | 64 MF(IMF 7 FE R 11 BN
1 1 2 mA ZN 63 MF ||MF| 55 Al TX N
31 B OEKER 80 MF |[MF| 96 WA R 1 1 N
79 1 2 1 4 ¥/ BEx 7 |MF [|MF 10 D 1 1
68 121 4 X# BFE 48 FW[|Fw| 8 =l s 31 1 1
43 112 10| 2 Myt BEE 10 FW |[|Fw 24 BRIl fBith 2 1 1 65
AEH E&E 21 |GK [|GK | 1 FR #—
IBE BEA 4 |DF [|[MF 15 FARE fEpE 88
AR £ 50 DF ||DF | 19 mHARk —B&
7 T FE 97 MF |[DF | 22 BEE #E 69
N BE 9 FW||lFw 27 WA i
48 KE {—% 73 FW|[Fw | 38 HE =N 1 1 24
80 4 1111 7.3 #AE =N 27 FW|[Fw_ 47 TE EF
2 & 5 e | wise = wr e | gg s Zz &£-E 15
B 2E E F & e e FoLaH A B mm mm ® F &
14 C5 64 THH ERED 22 | 13 | 35 La—pk 9 4 5 35 | C2 96 WA R
28 C2 [113) Rk ®iE 6 4 | 10 G K 21 10 11 75 C2 |10 £k #—
59 C3 48 K# BE 4 0 4 C K 1 1 0 |
| 13 | 9 | 22  HEEFK 11 7 4
0 ] 3 3 RfEFK | 4 | 1 ] 3 |
0 3 3 (#7141 3 1 2
0 0 0 P K 0 0 0

CENZATYA FEOKFZ. BEI)-Fv0BDI54TH M FICLBEDERT .
[(Z&EH] C1: RAR—YMITA, C2: 57711, C3: R, C4: #ENRLMER. C5:EILTA. C6: IR E . CT: |{EFAI A, C8: EHFAI X
GRIZEM] S1:EFKFEGTLA, S2: ELRBITAH. S3:DIEHE, S4: G REKMELE (F), S5: FRHMMIE (). S6: RE. CS: E&H2H

B | F—L4 | R37 BaE TR (eIt 3]

17 | RKBgX  1-0 10 | mu~il & | 7 ¥H = HY¥4MNT 1 3-VIY7E10S
54 | @K 1-1 | 10| {kiE H— EH4p10S

63 | KlgRX  2-1 10 | W4iE BEE PI7~10S

76 | KBe K | 3-1 |27 #HE =4 7| £/ =H EY4NFKT 1 PIYT7H27S
83 | KBRX | 4-1 27| #E EFNHr 24| Kfi KT rhfigch 24 1 PIY7HR27S
84 | KfgX | 5-1 27| #@A £/ 73| KE -% Y4 T3—PI) 7R R27S
87 | KEEX  6-1 0G

(~:RUTI =TSV RRA 1:2EENR S:Ya—F HATAUT xRED)
XEFFREOMHTIEN=784 LERLET [+ IRFL>ARIM LR OB HETLET
[&#]



